Discrepant Event: Well-Balanced

Intro

This discrepant event is a good example to use when walking through the scientific method steps of observation and hypothesis.  It works best with more mature students (high school, maybe grade 8) because it takes advantage of the difference of center of gravity between males and females.  

Materials

One small object that can stand on end and is lightweight – about the size of a 24-color crayon box

Method

· The class sits on their knees and sitting back so that they are on their feet.  This can be done in a circle or one row of students at a time.

· Have the students place their elbow flat on the ground, touching their knees, and extend their arm and hand straight out along the ground in front of them.  Place the object at the end of their fingertips.

· With their hands held back behind them, have the students tip over the object with their nose.  They must tip away from them, not towards them!
· Another student could record who was able to tip and who was not.
Explanation

In general, females should be able to tip the box and males should not.  Females have a lower center of gravity, so their mass remains upright when they lean over.  Males often fall over because they extend their center of gravity out past their knees.  

Discussion Questions

We talked about why this demonstration doesn’t work so well with elementary and young middle schoolers.  Very young elementary schoolers have their center of gravity near their belly buttons and there won’t be much difference between boys and girls.  A lot of middle schoolers are just starting their growth spurts, so they might be tall and lanky and have arms long enough to grow into, so they’ll measure further than they can lean.


